
 
Revision worksheet 

Subject: Maths 

                   Grade: II 

Name  …………………..        Class  …………..                             Roll no……………    Date ………………… 

Q1. Solve the following numbers:- 

a) H   T  O           b)  H  T  O                     c) H  T   O                   

          3   8   1        4  3  2                          9   6   8                        

        +2   5   2                              +1  7  9                     +  7   1   4                     

 

      d)     H  T  O                    e)  H    T O                   f)    H  T  O             

     8  5   6                             7   4   9                         7   8  6                  

- 5  3   4                            -3   1   8                        -4   6  2                

   

Q2. Solve the word problems: 

a) There are 33 footballs and 56 volleyballs in the school 

playground. How many balls are there in all? 

______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________

_____________________________________________________. 
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b)  A school has 540 boys and 339 are girls. How many students study 

in the school? 

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________.

_______________________________________________________  

c) In a stationary shop, there  are 336 red pens,121 blue pens and 

111 black pens. What is the total number of pens in the shop? 

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________. 

d) A florist has 258 red roses and 286 yellow roses.How many roses 

are there altogether? 

________________________________________________________

________________________________________________________
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________________________________________________________

________________________________________________________

________________________________________________________

________________________________________________________.  

Q3. Fill in the blanks to make the following statements “True”. 

a.)  478 + _____= 500 

b.)  565 - 565    = ____ 

c.)  600 - 400    = ____ 

d.)  100 + 21      = ____ 

e.)  160 - 60      = ____ 

f.)  245 + ____  = 300 

 Q4. Match the column:-                                                                   

               Column A                Column B 

600 - 0   200 

227- 27 900 

700 + 1 400 

888 + 12 701 

125 + 25 600 

299 + 101 150 
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